
1

2

3

5

4

6

1110

9
8

7

12

1413

15
16

17

Pos  Benämning                Moment

1.    Lasthållnings-               40 Nm   
         ventil.
2.    Skruv M16                   330 Nm

3.    Mutter                               7 Nm                                                                                  

4.    Tryck-                             70 Nm
       reduceringsventil
5.    Backventil                      70 Nm

6.    Skruv M10                      80 Nm                  

7.    Skruv M12                     90 Nm

8.    Skruv M12                      90 Nm

9.    Skruv M16                   200 Nm

10.  Skruv M16                  330 Nm

11.  Skruv M5                        10 Nm

12.  Propp                           100 Nm

13.  Skruv M12                      90 Nm

14.  Skruv M12                      90 Nm

15.  Skruv M16                      90 Nm

16.  Skruv M10                      80 Nm

17.  Backventil                      70 Nm

Åtdragningsmoment
        R4 R6 R8 

                               

Information FAQ


